Pocty Ziakov a tried v zakladnych Skolich v zriad’ovatel’skej p6sobnosti mestskej ¢asti Bratislava;
Petrzalka k 15. 9. 2013
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s |triedy 4 2 3 3 2 3 2 3 2 3 3 30
‘= |ziaci 70 31 50 63 36 64 36 69 27 64 58 568
’§ integr.z. 1 1 2
= Spec.tr. 1 1 2
Ziaci Sp.tr. 8 6 14
s |triedy 3 2 3 2 2 3 2 3 1 3 3 27
‘= |ziaci 65 33 51 43 53 57 27 73 20 61 57 540
’§ integr.7. 1 2 1 4
o Spec.tr. 1 1 2
Ziaci Sp.tr. 12 14 19
e |triedy 2 2 2 2 2 2 2 4 1 3 3 25
= |ziaci 35 28 44 46 39 40 28 87 23 63 51 484
’g integr.z. 1 2 2 2 3 1 1 12
o Spec.tr. 1 1 2
ziacl Sp.tr. 10 9 19
o |triedy 2 2 2 2 2 2 2 3 1 2 2 22
= |ziaci 49 38 48 49 52 41 33 73 15 46 44 488
’8 |integr.Z. 6 2 4 3 1 1 17
; Spec.tr. 1 1 2
Ziaci Sp.tr. 9 9 18
s |triedy 2 1 2 2 2 2 2 3 1 2 2 21
‘= |ziaci 44 23 41 42 39 36 33 68 14 51 34 425
’g integr.z. 1 1 3 2 1 1 9
v Spec.tr. 1 1 2
Ziaci Sp.tr. 9 4 13
s |triedy 2 1 2 2 2 1 1 3 2 2 2 20
‘= |ziaci 40 17 29 33 32 18 19 64 30 37 32 351
’§ integr.z. 2 1 1 2 3 6 2 1 18
< Spec.tr. 1 1
ziaci §p.tr. 9 9
s [triedy 2 1 2 2 1 2 1 3 1 2 2 19
‘= |ziaci 35 23 32 46 27 36 18 57 16 34 45 369
’§ integr.z. 2 2 1 2 1 6 14
e Spec.tr. 1 1
ziaci §p.tr. 8 8
s [triedy 2 2 2 2 2 2 1 3 1 2 2 21
‘= |ziaci 31 30 36 33 31 36 17 66 21 34 33 368
’S  lintegr.2. 1 1 1 2 2 1 1 9
; $pec.tr. 0
Ziaci Sp.tr. 0
s |triedy 1 1 2 2 2 2 1 2 2 2 2 19
‘2 |ziaci 24 17 39 33 33 37 11 45 27 30 31 327
’S  lintegr.”. 4 4 4 1 5 3 5 26
; Spec.tr. 1 1
ziaci §p.tr. 10 10,
triedy 20 14 20 19 17 19 14 27 12 21 21 204
3 ziaci 393| 240| 370 388| 342 365| 222 602 193] 420 385 3920
O |integr.z. 1 13 11 15 2 18 7 20 12 2 10 111
o
v |[Spec.tr. 8 1 4 13
ziaci Sp.tr. 75 4 31 110
POCET ZIAKOV | 393| 315| 370 388| 342| 365 222| 602 197 451| 385 4030
POCET TRIED 20 22 20 19 17 19 14 27 13 25 21 217







